ISOMERISM

PYQ

AIPMT-2009
Which of the following compounds will
exhibit cis-trans (geometrical) isomerism ?
(1) 1-Butanol (2) 2-Butene
(3) 2-Butanol (4) 2-Butyne

AIPMT-2010
In the following the most stable conformation
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Which of the following conformers for
ethylene glycol is most stable :-
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AIPMT Mains-2011
The IUPAC name of the following compound
Cl CH,CH,
>=< o
CH; I
(1) cis-2-chloro-3-iodo-2-pentene
(2) trans-2-chloro-3-iodo-2-pentene

(3) cis-3-iodo-4-chloro-3-pentene
(4) trans-3-iodo-4-chloro-3-pentene

Re-AIPMT-2015
The number of structural isomers possible
from the molecular formula CsH9N is :
(H2 (2)3 (3)4 (4)5

NEET-12016

The correct statement regarding the

comparison of staggered and eclipsed

conformation of ethane, is :-

(1) The staggered conformation of ethane is
less stable than eclipsed conformation,
because staggered conformation has
torsional strain

(2) The eclipsed conformation of ethane is
more stable than staggered conformation,
because eclipsed conformation has no
torsional strain

(3) The eclipsed conformation of ethane is
more stable than staggered conformation
even through the eclipsed conformation
has torsional strain

(4) The staggered conformation of ethane is
more stable than eclipsed conformation,
because staggered conformation has no

torsional strain.

NEET(UG) 2017
With respect to the conformers of ethane,
which of the following statements is true ?
(1) Bond angle changes but bond length
remains same
(2) Both bond angle and bond length change
(3) Both bond angles and bond length remains
same
(4) Bond angle remains same but bond length

changes




ISOMERISM NEET

NEET(UG) 2021 9. The compound which shows metamerism is:
8. Dihedral angle of least stable conformer of (1) CsH1z (2) C3HgO
ethane is : (3) C3HgO (4) C4H100

(1)120° (2)180° (3)60°  (4)0°

ANSWER KEY

Question ! 2 3 4 5 6 7 8 9
Answer 2 3 3 2 3 4 3 4 4
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Which one of the following is the most stable

conformation of 2, 3-butanediol :-
OH OH
H OH CH,
H CH, H CH,
CH, OH
OH OH
HO CH, HO CH,
CH; H H CH,
H H

The minimum number of carbon atoms in

H
(2)

ketone to show metamerism :-

(D3 (2)4 (3)5 (4)6
Which of the following is not a metamer of
C4H100

(1) Diethyl ether

(2) Methyl n-propyl ether

(3) 2-Methoxy propane

(4) Isobutyl alcohol

Which of these will exhibit geometrical

isomerism?
M (ID ()
(DI (2) I
(3) 11 (4) All of these
What is relation between following
compounds

CH3-CH2-CH-CH2-CHO &
N
CH3-CH-CH2-CH2-CHO
N

(1) Positional isomers (2) Chain isomers

(3) Optical isomers (4) Metamers

How many structures of aldehydes are

possible for molecular formula CsH1007?

(4 (2)7 (3)6 (4)8

Given below are two statements:

Statement-I : CH3-0-C3H7 and HsC;-0-C;Hs

are metamers of each other.

Statement-II : Metamerism arises due to

different alkyl chains on either side of the

functional group.

In the light of the above statements, choose

the most appropriate answer from the

options given below:

(1) Both statement I and statement II are
incorrect.

(2) Both statement-lI and statement-II are
correct.

(3) Statement I is correct but statement II is
incorrect

(4) Statement I is incorrect but statement Il is
correct.

Given below are two statements; one is

labelled as Assertion (A) and the other is

labelled as Reason(R) .

Assertion : In ethene rotation of one CH;

fragment with respect to other interferes

with minimum overlap of p-orbitals.

Reason : In ethene rotation absout carbon-

carbon double bond (C=C) is restricted.

In the light of the above statements, choose

the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct but (R) is not
the correct explanation of (A).

(2) (A) is correct but (R) is not correct.

(3) (A) is not correct but (R) is correct.

(4) Both (A) and (R) are correct and (R) is the

correct explanation of (A).
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9.

Match the column :-

Column-I Column-II
(Compound) (Isomeric
relationship)
(@) | O~ (p)| Positional
and isomers
/\O/\
(b) OH  |(q)| Chain

isomers

(c)

(r) | Functional

group
isomers

(d) OH

(s) | Metamers

(Da=s, b=p,c=q, d=r
(2) a=s,b=q, c=r,d=p
(3 a=p,b=q, c=1,d=s
(4) a=p,b=q, c=s,d=r

Question 1 2
Answer 3 3

ANSWER KEY




